

1.- Completa con la información que corresponda, sigue el ejemplo:

$$\begin{array}{l}
 2 \times 4 = 8 \\
 \swarrow \searrow \\
 8 : 2 = 4 \\
 8 : 4 = 2
 \end{array}$$

$$\begin{array}{l}
 3 \times 2 = \square \\
 \swarrow \searrow \\
 \square : \square = \square \\
 \square : \square = \square
 \end{array}$$

$$\begin{array}{l}
 9 \times 7 = \square \\
 \swarrow \searrow \\
 \square : \square = \square \\
 \square : \square = \square
 \end{array}$$

$$\begin{array}{l}
 7 \times 4 = \square \\
 \swarrow \searrow \\
 \square : \square = \square \\
 \square : \square = \square
 \end{array}$$

$$\begin{array}{l}
 8 \times 5 = \square \\
 \swarrow \searrow \\
 \square : \square = \square \\
 \square : \square = \square
 \end{array}$$

$$\begin{array}{l}
 6 \times 4 = \square \\
 \swarrow \searrow \\
 \square : \square = \square \\
 \square : \square = \square
 \end{array}$$

3.- Completa con los números que faltan:

- a) $\underline{\hspace{2cm}} \cdot 6 = 30$  $\underline{\hspace{2cm}} : 6 = 5$
- b) $3 \cdot 6 = \underline{\hspace{2cm}}$  $18 : \underline{\hspace{2cm}} = 3$
- c) $7 \cdot 6 = \underline{\hspace{2cm}}$  $\underline{\hspace{2cm}} : 6 = 7$
- d) $6 \cdot \underline{\hspace{2cm}} = 36$  $36 : 6 = \underline{\hspace{2cm}}$
- e) $9 \cdot 6 = \underline{\hspace{2cm}}$  $54 : \underline{\hspace{2cm}} = 9$
- f) $10 \cdot \underline{\hspace{2cm}} = 60$  $\underline{\hspace{2cm}} : 6 = 10$
- g) $4 \cdot 6 = \underline{\hspace{2cm}}$  $24 : 6 = \underline{\hspace{2cm}}$